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1. Assuming the op amp is ideal in Fig. 1, determine as follows: (15% in total)

) iy, by, G (6%)

(2) the voltage gain Yo , current gain i , and power gain i (9%)
Vi i i

Fig. 1

2. Design a low-pass amplifier using an ideal op amp. Based on the conditions: an input
resistance of 150 kQ, a dc gain of 40 dB and 3-dB frequency of 8kHz. (15% in total)

3. Fig. 2 and 3 using ideal diodes, determine V, and I,. (10% in total; 5% for each)
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Fig. 2 Fig. 3

4. InFig. 4, the transistor used has B =150, r, =1kQ and 7, >w. (20% in total)

(1) Determine the lower 3-dB frequency f,. (10%)

(2) Given the input current i(r) is a250 Hz square wave, determine the percentage tilt in
the output. (5%)

(3) What is the lowest frequency square wave which will suffer less than 1 percent tilt?
(3%)
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5. Fig. 5 shown the ideal class B push-pull amplifier and is required to deliver an average
power of 120W into the load R, =15 Q. The power supply V,, is 3V greater than the

corresponding peak sine wave output voltage. Please determine the power supply V..

(20% in total)
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Fig. 5

6. Assuming the op amp is ideal in Fig. 6. Determine the output 7,. (20% in total)
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Fig. 6
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